i
S
[IN8°0]
AAR;N
[(NG0]
OLT
231JO
i LIV AISTUIUPT
(IN9'8]
«S.8C
[N60] (N60]
«ILT «I1T
£ \ Lagvo) ssvjn av)g \
:\/Hﬁg :m,m .mvlw W _Hzﬁmu :W,OM w ) :\/ﬂﬁﬁg :N,m
2OV4LIT m« 2 o °
= )
dozfooy = I & 2\ = R G Z
3 - b —
4aa1)() Swa) o d‘ = M = S M
svuwoy] puv | o o ) N
suowzrdy | 5 = o e W m : rrw
01 411§ ket = - £l
— — _|_ —
g Z [IN9'7].8.8 = S
[IN8°0] 8.C [N80] 9.C [NT' 1] 9.£ [NT'T] L£

122418 \RN\A\ FAS

Bu)122

01 1o0pf uiosf

10549
JCAT

Buj122 01 100y
Lap703 wosf
IN6'T]

«86

Buoovu ) [€CO-TF9-SO6
sourwIvy) IS 922438 (MU IS FSE
247U97) SIS VAVSVIN

AM%\NQ& th\Nu N.NN\NAN



